Part # BPKO1

NEWALL s
Bridgeport Bracket Kit

This kit mounts two Spherosyn Reader Heads.

294-23210 294-22410
Cut-out Bar (1) Large Flat Plate (1)

Tie Wrap (10)

wee —— (G TYTT oo

10-32 x 1 1/4” Socket Head Screw (4) ——8 ™ ——
1/4-20 x 1” Socket Head Screw (4)
1/4-20 x 3/4" Socket Head Screw (2) @@Q@ 0Y0)

Some modification of bracketry may be necessary during installation.

294-22420
Rectangular Bar (1)

10-32 x 3/4” Socket Head Screw (4)

10-32 x 1/2" Socket Head Screw (8)

1/4” Washer (2)
#10 Washer (4)

NUSA_011305



NEWALL Bracket Drawings
Bridgeport Bracket Kit
Part # BPKO1

This kit mounts two Spherosyn Reader Heads.

Part # 294-22420 Part # 294-22410

12.5(0.
2 SLOTS B.0 WD x 19.0 LG 1330 {
‘ oo e
133.0 12702y N | 25.0ref,
f 65.0
95.0 19.0 =
‘ . L ~Z o -
i i s
7; P = Y 53] _
A A oz ke g
. - - —F R 2 ) ®
id % H_ 4 :
= me
oy

118.0 e/IG@ @

75

2 HOLES ¢ 50 COUNTER- DRILL THROUGH & TAP 2 HOLES 95 COUNTER—
BORED @9 X 6.5 DEEP M5 x 10 DEEP BORED 995 x 6 DEEP 95.0 19.0

Part # 294-23210

57.0 DRILL 810 THRU C/BORE 916 x 16 DEEP

|
|
IRBlZ nnE
- Ol

i
©
o o
] o - P ——D3_ DRILL #5.5 THRU
- ‘Tﬁ TS AP M5 THRU
445
118.0
1315
286

el & ) \
\ P Y

DRILL 87 THRU C/BORE 10.5¢ x 8 DEEP

NUSA_011305



